
Y2 – Autumn – Block 2 – Step 10 – Subtraction – crossing 10 Answers

Question Answer

1

a) 22 – 1 = 21
22 – 2 = 20
22 – 3 = 19
22 – 4 = 18
22 – 5 = 17
22 – 6 = 16

b) 22 – 7 = 15
We can work out 22 – 7 by subtracting 1 from 22 – 6

2

b) 10 – 7 = 3
c)

10 – 2 = 8

3

a) 5
b) 6
c) 9
d) 8
e) 6
f) 9

4

a) 17
b) 28
c) 16
We can find the difference by subtracting the number of units in the first number and then 
subtracting the number of units that are left over.

5

a) 24
b) 37
c) 24
d) 29
e) 65
f) 55
g) 46
h) 38

6

subtraction using the three cards, e.g. 67 – 2
There are six different possible subtractions: 67 – 2, 62 – 7, 76 – 2, 72 – 6, 26 – 7, 27 – 6
greatest difference: 74
smallest difference: 19
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